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1. f(x) =
4
π

[
cos b sinx +

cos 3b

3
sin 3x +

cos 5b

5
sin 5x + . . .

]

V. esempio 3.2-9. Per b = 0 si ottiene lo sviluppo della funzione segno.
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2. f(x) =
2
π

[ b

2
+ sin c cos x +

sin 3b

3
cos 3x +

sin 5b

5
cos 5x + . . .

]
(v. esempio 3.5-1.)
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3. f(x) =
4
π

[
cos x − cos 3x

3
+

cos 5x

5
+ . . .

]
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4. f(x) = − 2
π

[
sin x +

sin 2x

2
+

sin 3x

3
+ . . .

]
(grafico monometrico)
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5. f(x) =
8
π2

[
sinx − sin 3x

32
+

sin 5x

52
+ . . .

]
(grafico monometrico)
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6. f(x) =
b

2π
+

2
π2

[
(1 − cos b) cos x +

1 − cos 2b

22
cos 2x +

1 − cos 3b

32
cos 3x + . . .

]
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7. f(x) = (cos x)+ = max{0, cos x} =

=
1
π

+
cos x

2
+

2
π

(
cos 2x

1 · 3 − cos 4x

3 · 5 +
cos 6x

5 · 7 + . . .

)
.

(v. esercizio 3.4-2)

-7.5 -5 -2.5 2.5 5 7.5

1



8. f(x) = | cos x| =
2
π

+
4
π

(
cos 2x

1 · 3 − cos 4x

3 · 5 +
cos 6x

5 · 7 + . . .

)
.

(v. esercizio 3.4-1)
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